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Time allowed: 1% hours La/B

Answer ALL of the questions in the space provided as fully
as possible.

1. Explain the difference between a digital and an analogue computer,
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Explain the difference between a moving head and a fixed head disk drive.
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Outline THREE advantages of using microfilm for output.
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Name THREE types of printer.
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Zxplain the difference betwcen MICR and OCR.
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Explain the difference between mark sensing and mark reading.
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Name TWO functions of the arithmetic logic unit.

Explain the term immediate access store.
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Give TWO advantages of using floppy disks as opposed to cassettes for
program storage.

Change to denary (Base 10)
a) 1101.11, (Base 2)
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Question 16 continuedeo...
b) 35.4g (Octal)
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c) 136, (Hexadecimal) :g *
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What is a modem used for?
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Explain the difference between a bit, a byte and a word.
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Show how to store +14;Olo in:

a) fixed binary pt. form.

— 4:’
— )

1
O
o

N 1SN

"

OO0, v 'l - 5

Question 19 continuedecsoe



. Question 19 continuediosoe

20,

21,

Crecl2

22,

23.

b) Floating binary pt. form.
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Outline TWO advantages of using floating point arithmetic. 5~A
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Show how to subtract lOl2 frpm llOO2 using a complementation method.
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Why are ASCll codes used?
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Who developed the analytical engine?
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Discuss some of thework of Herman Hollerith.

Explain the difference between RAM and ROM.
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Discuss THREE Ieatures of microchips.
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. 29 Explain with he aid of a sketch the difference between a block, record and
a field in relation to magnetic tape.
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30, Give TWO advantages of using computers in the police force.
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2l. Name TWO files you would expect a pharmacist to keep.
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EoE Show how to apply a check digit to this number:

101 3 2 |2]

. l+0 + (4342 = 7\
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3l Explain the difference between high level and low level languages. '
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< 35, What is a source code? A Iﬁ&SE::

36. VWhat is an object code?
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37. VWhat is a compller used fo
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38. What program code would you use to generate a random number in the
range 1 to 67

10 A= 0%l T (eNDCIxE)) ;
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39. VWhy are trace routines useful?
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40. Outline THREE considerations when choosing variable names.
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Lo, VWhat is a logical error?
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Explain the term overflow.
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List THREE reasons why programs need documenting. //////
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On the lined paper provided write a few notes on ONE of the following: -
a) Home micros. p ‘\\
b) Robdtics. ~
¢) Computers and space exploration. f:) \

d) CAL packages
e) Micro-electronics
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